DROSCAND

TEST POINTS M16 X 2

8301-30

Part No.

83013010
83013011
83013012
83013014
83013016

www.hydroscand.lv

Product group 820
Accessories
Material Steel

Connection
M10x1,0M
M10x1,25M
M12x15M
M14x1,5M
M16x1,5M

12.05.2024

Page: 1/1



